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INSTRUCTIONS TO CARDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)
1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
1t contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
unthout its envelope.

3. A separate Answer Sheet is given. I should not be folded or mutilated. A second Answer Sheet shail
not be provided. Oniy the Answer Sheet will be evaiuated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

§. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any)} on
- OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the correspanding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

%, For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank {such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Bookiet.

12. Deposit only the OMR Answer Sheet at the end of the Test.

13. You are not permitted to leave the Examination Hasll until the end of the Test,

14. |facandidate attempts to use any form of unfair means, he/she shall be liable to auch punishment
a8 the University may determine and impose on him/her.
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. 15U/102/4 Set No. 1
Tiaae/WAN : 2 Hours /w2 | . Tl Marks/qeite : 300

Bote/NT: (1) Attempt as many questions as you can. mwmam
onmkmﬂbedcducudﬁnremmmMW Zero mark will be

. awarded for each unattempted question.
.miﬁﬁmwwmﬂlﬁmmammhm
~mlmiﬁﬂﬂﬁﬁmml SRR W W

2) lfmorethanonealtemn&vaanmmtubeappmximntemme
correct anawer, choose the closest one,

;&mmmmmtmmﬁ N frem T W

(3} . This paper comprises of Five Sections. Sections | and Il are compulsory
whereas only one Section out of I, NandViatobeattempted.

Te YT 9ie wavdl W R wom 1w 1 whewl §oaals
ﬂ#mmwmiﬂrtl w t T

(306) | 1 (P.T.0)
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15U/102/4 Set No. 1

Section—I
eI

MENTAL ABILITY
(Compulsory for all)

1. In a certain code, 2 is coded as P, das N.QnaQ,SnR.tluAandﬁaaB How
is 999423 coded in that code?

izﬂﬁtmﬁ3ﬁm9ﬁqsd&4ﬂadeﬁat_
rigﬂwhwtlﬂwimﬂﬁnmme?

IHWWC () RQPANB  (8) EIMDBC tﬂmmm

2. Ina code, 3456 is coded as ROPE, 1ssasum.smm1m
in 54613 coded?

'Mgiussﬁmwmwmﬁmtmimet,
® 54613 W fem TR iy fen wren? ,

(1} RPPEO (2) ROPEA {3) POEAR (4} PAREO

3. if CIGARETTE is coded as GICERAETT, then DIRECTION will be coded as

thcmmﬁmcmmtwiiwq:uﬁmwt # DIRECTION
w s wr ghgw e Imm?

(1) RIDTCENOI (2} NORTECDI (3) NOIETCRID (4] IRDCTIONE

4, Ilnacenaineode PAPERhmMaaSC‘I‘GW HwilMOTHERmttenmﬂmt
code?

W ¥ # PAPER W mwtnﬁmwt u\umannﬁmwi
fom ek fovam e ?

(1) ORVLGW (2) PQVJAT (3} PQXJJT (4) pqw

(304) 2

L]
gcollegedunlae
India’s largest Student Review Platform

—



18U/102/4 Set No. 1

Directions : Choose the group of letters which is different from others.
Rn:swismopmen s, AfFsmAgm

8. (1) CFIL (2 PSVX = (3) JMPS (4) ORUX
6. (1) DXCLQZ  {2) PFZUBM  (3) XOKNTY  (4) NWMBHY

m In each of the following questions, mnathegimmmthewquencc
inwh:chdwyminﬂndichomryandthenchoooethemrmtuqumoe.

n : mmmiﬁq'ﬂmvﬂmtmmﬁuﬂm
mﬂﬂw!ﬂﬂi |

7. @) Preach, (1) Praise, mm«nmmm

) b, @), ), @ @ O © @,
(3 M), (e), (a), (d), (o 9 @), ®), ©, @), ©
8. (a) Select, (b) Sckdom, (c) Send, {d) Seifish, (¢) Seller
(1) (@), ®), (@), (e (0 @) O ) o), (@), (e)
@) G () @& @ (b, e @) (), (o

9. Campdmthch:owledgcofpemmx.Y,z;A,ﬁandCinrelation to each other
(a) X knows more than A
(b) Y knows as much as B
{c} Z knows lcss than C
(d) A knows more than ¥
The best knowiedgeable person-amongst all is
(1) Jt_ - 2} Y | 3) A . {4) C

(304) '3 (P.T.0.)
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15U/102/4 Set No. 1

10.

X,Y,Z, A B @ C e wiwdt # & uw-gRt 6wt @ gown W
@ X, A% afts aFm ¥

(b) Y, B % wam 9w §

) Z,C 0 w1 arn }

(d) A Y d ufts amm &

miqu&t
(1) K N I 4 | 3) A - 4 C

l!‘(a]PistnllerthanO.MRu-horterthmP, (c]SutallerﬂmnThuuhnrtnr
than Q, then who amang them is the tallest?

NeroRgmimiweumt, BRPIVTY (S 73w, g
Qﬂﬂat W Tt @ W TR el w2 W 7

(1) P (2) Q s @7

Directions : Choose the number which is different from others in the group.
friw : 30 Yo W W W@, A wE @ = T § que f '

11. {1) 12 (2) 25 (3) 37 {4) 49
12. (1) 381 | (2) 552 (3) 729 (4) 903
13. Which of the following is not a ‘greenhouse’ gas?
(1) Ozone (2) Methane (3) CFC (4) Oxygen
fra & 7 o Y’ e ol 87
(1) N3 (2) = (3) WeTHodllo (4) Afwdd
(304} | 4
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14.

18.

16.

17.

(304

15U/102/4 Set No. |

-125% can also be written as

125% # e 3 3 P wow o for o w47 -

(1) 12500 (2) 12-50 (3) 1250 (4) 0125

Which of the following were the main crops during ‘Indus Valley Civilization’ ?

(1) Wheat and barley (2) Wheat and pes
(3) Barley and pea (4) Berley and gram
A # @ W fig o T A e vt

(1) 3¢ ok (2) ¢ o W=

(3) W Ar 7= 4) 3 sk W

Which of the following rivers is associated with ‘Harappa’ ?

{1} Ravi (2) Vyas (3} Satluj (4} Indus
fm & 4 SR-d T ‘wen’ } gfRa &7

o (2) @) wem () Ry

In respect of other planets, which of the following planets rotates in
‘anticlockwise’ around sun?

(1) Mercury (2) Jupiter - {3) Venus (4) Mars
et % e A e e W W d gl H gfoen w4
(1) 39 (2) yeta (3) T (4) W
5 - (P.T.O,
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15U/102/4 Set No. 1

18. The difference of two numbera is 20% of the large number. What will be the
value of larger number, if the value of amaller number is 207

2 vomi W SR T wEn W 20% ¥ 9R WA www 20 X, A ¥ oW
T W OWm? |

(1} 25 (2) 45 | {3) S50 (4 55

19. March 5, 1999 was on Friday, what day of the week will be on Maxph S, 20007

(1) Sunday (2) Monday  (3) Tueaday (4) Wednesday
7R 5 W, 1999 ¥ YHAR W, N S W, 2000 W WATE W PA-A1 T TW?

(1) tw (2) WA (3} WMETAR (4) FWR
20. Which of the following pairs is correctly matched? |

{1} Malaria : Virus (2) Smallpox : Plasmodium

(@) Goitre : Fung * (4 Leprosy : Bacterium

frferfem & 4 om-w gw gt 47

(1) vefem : R (2) o : R

(3) ¥ : w® | (4) T8 : twifem
21. The missing number in the foﬂowiiug ucquence' ia

fraffen w3 gu swn A

4,9, 25,7, 121, 169
(1) 45 (2) 36. (3] 40 (4) 49

(304) 6
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15U/102/4 Set No. 1

22. In a group of cows and hena, the number of legs are 14 more than twice the
number of heads. The number of cows is

ﬁmgﬁhﬁtwwﬁﬁﬂmw&sﬁﬁﬁmtﬁ@ﬁmaﬂm
$1 it @ v

(s 2) 7 {3) 10 [4) 12

23, Which is the least number which when divided by 15, 21 and 18 leaves 7 as the

remainder?
g ¥R-h o f e 5 15, 21 AR 1S A T B w7 wmw &7
(1) 637 (2) 627 (3) 647 (4) 747

M. Out of the following alphabets, which makes a meaningful word after
interchanging the first and last letter? .

s o TR ommm sk sifm o R P, A Pm 4 @
frq Tz @ B anfe ez w9 7

(1) KAME (2) EAKM (3) EMKA (4) MEKA

28. Il'x’-i-;l,—-lli. then x’+%=?
0 x’+;1-2—=14 x’+$-?

(1) 98 (%) 46 (3) 70 {4) 52

(304) 7 | (P.T.0,)

L]
gcollegedunlaa
India’s largest Student Review Platform

—



15U/102/4 Set No. 1

S8ection—I1
o f S|
CHEXISTRY
{Compulsory for all)
26. The coordination number of a metal crystallising in a hexagonal close-packed

structure is :
e we-te weem § ey @ oy v den
(1) 12 (2) 4 (3 8 . 4) 6

27. In the reaction xFeCl, + yH,S— FeCl,; + S+ HCI
xFeCly + yH,S - FeCl, + 8 + HCI aififie §
(1) x=2,ym=1 (2) x=3,y=21
(8) x=4,y=3 4) x=2,y=2

28. The rare of diffusion of methane at a given temperatiire is twice that of X. The
molecular weight of X is

WA A S A A x AR, xwoagom
(1) 64 (2) 32 (3) 40 ) 80

29. 44 g of a gas at STP occupies a volume .ot' 2:24 L, the gas can be
4-4 7 8 STP W 2-24 L ¥rem Seht R) ox o @ ww @

mo, (2) CO - (3) NO, (4) €O,

(304) 8
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15U/102/4 Set No. 1

30. If 0-50 mol of BaCl, is mixed with 0-2 mol of Na,PO,, the maximum number of
moles of Ba,;(PO,), that can be formed is

R 050 mol of BaCl, N 02 mol Na PO, ¥ @ fem & @ +13 =w
Ba,(PO,), % ftrmm nidl 6 wwm 8

{1) 07 - (2) 05 (3} 03 [4) 0-1- .

31. The pH of a 0-005 M H,S0, solution is
0-005 M H,S0, ¥ pH %

) 5o (2) 2:0 (@) 23 (4) 33
82. Which of the following will have highest flocculating power for ferric hydroxide
colloid? :
e TRITNE Weng ¥ @ ¥ R fafsfe § @ 99 wwite s @
k7 - | -
(1} Ky[Fe(CN)g) {2} K,CrO,
{3) KBr {4) K80,

33. Electrolysis of an aqueous solution of sodium chloride leads to the formation of

(1} Na and O, (2) Na and Cl,
{3) Hy and Cl, {4) Na and H,
wofy Bifdon weie & Rga e @ w8}
(1) Na 3R O, . (2) Na 3R Cl,
(3) H, 3R CL, (4) Na 3 H,
(304) 9 ~ {P.T.0)
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15U/102/4 Set No. 1

34. Which of the following has smallest ionic radius?
A 3 A 9 ="pow P fow w7
(1) Na* (2) N°- (3) A - (4) mMg®

88. The most basic oxide is
waifts sy Afaams
(1) Nay0 (2) Al0, 3 80,  (4) NO,

36. Which of the following has maximum ionisation energy?
fiafofen § 4 w7 aRteeem R St wm 7

{1) Be @) K (3) Na (4) Mg
37. Which of the following gives NO, on heating?

Preafirfes % 3 ¥ ™ W W NO, W A7

(1) Pb(NO,); (2) KNO, (3) NaNO, (4) NaNO,

38. Which of the following nitrogen halides is most stable?
Pt 5 @ Wi gt demes wiftes Turh 47
(1) NI, (2) NBr, (3) NCl, @ NF,
39. Which of the l'ollawingliunn is colourless in solution?
P st # 4 A7 e F ol 47
{1} v¥ @ cr? - {3) Co* (4) Sc**

(304) 10
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15U/102/4 Set No. 1

Which of the following compounds does niot exist in the solid state?
P AP § 3 W oen § 76 T A7
(1) NaHCO, (2) LiHCO, (3) KHCO, (4) RbHCO,

Which of the following compounds is coloured?
Aol 4 @ ¥ T 87
{1) KO, (2) Na;SO, (3) KIO, {4) KNO,

Which of the following is not an electrophile?

A 3 @ W7 wwl Of T A
(1) {(CH,)3N (2) ALCl, (3) 80, | (4) NOZ
ITUPAC name of

@—cu,on
s |
(1) benzylalcohol ' (2} hydroxymethyl benzene
(3) hydroxyphenyl methane {4} phenyl methanol
O—cn,ou ® IUPAC W }
(1) Hreewrera (2) Tyt AP S0
(3) vygtwh Sfw fres 4) S AeTw

11 (P.T.0.)
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15U/102/4 Set No. 1

44. Which of the following alkyl bromides may be used for the synthesis of
2,3-dimethyl butane by Wurtz reaction?

(1) n-Propyl bromide (2) lsopropyl bromide
(3) I[sobutyl bromide {4) s-Butyl bromide
mmmnmmmﬂmama@wm
# yam dm 27
(1) n-TiR WA (2) WM WA
(3) JpEeRfw WrTEE {4} s-sgfee WwE

48. Which of the following does not react with ammoniacal cuprous chloride?
{1} Ethyne (2) Propyne (3) 1-Pentyne (4 2-Butyne
fraforfm § 2 it anifree wwe s @ ARfR Wl w0
(1) T (2) SR (3) 1A= (4) 2-¥R

46. Which of the following carbocationa is most. stable?
freafefee Wi & @ ¥ wife w47

@ ® -
(1) CH,CH, (2) CH=CH (3] HCw=C (4) @

47. Which of the following does not undergo Cannizzaro reaction?
frafofam ¥ @ A SRad sivtfFn o v 7

1 cncho @ HeHO @) cseHo 4 { Ycno

{304) 12

L]
gcollegedunlae
India’s largest Student Review Platform

—



15U/102/4 Set No. 1

48. Which of the following is not a nucleophile?

Paffn # 4 ¥ R o &7
(1) H,0 (2) SO, (3) NH, (4) CH,NH,

49. Which of the following 'ga;..-, positive iodoform test?
faffil § 4 ¥ veees sREeid wlew ¥3m 47

(1) CHyOH | (2) (CH,),CHOH

" B0, Phenol is less acidic than

(1) ethanol | : (2) methanol | |
(3) p-nitrophenol (4) p-methyl phenol
Rete e v e 47
(1) wiate (2) WIS
(3) p-gRATE (@) p-Afe R
(304) 13 (P.T.0.)
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15U/102/4 Set No. 1

Section—Iil

PHYSICS and MATHEMATICS
ll‘by#n}

81. . Kilo Watt Hour (KWH) is the unit of electrical
(1) energy (3) power (3) engine (4) force
freirez R (Fowsrgene) vt & fage | .
(1) =uf ¥ (2) nfs @ (3) T W p mmvﬁ

83. Ifan ﬁmneedhﬂmuohthamofmwr.ﬂ!mthemfmﬂﬁtwmtil

(1) viscosity of water . (2) buoyancy of water

(3) surface tension of water (4) cohesive force of water molecules
A g TR e R A, AW W owwm
{lhlmwuim (2} Th W IeEmER W

(3) Tt W Y8 T (4) TR ® FNA W wEw -

83. The isotope of carbon used in carbon dating is
| wia WA fufo # W W ¥E-T TRaRE Rm § s R7

u) clﬁ | 12' cll (3) Cia ' (4] clﬁ

(a04) 14
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15U/102/4 Set No. 1

B4. Ball pen functions on the principle of

(1) viscoaity (2} surface tension

(3) gravitation (4) friction
'mhﬁéaafum.«m wm R

(1) W (2} T8 W (3) TwRuTw (4) wiw

.l mAudB mdvhuammdthamthmarcuhrorbmofradhk,
Ilﬂl.mtweb' The ratio of their orbital periods (T, /T) will be

m&uswtﬂﬂtndmn,mmﬂﬂﬁwﬁit
--ﬁivhmir,mrﬂwmmmﬂm

a : 1/3 2/3 | 3/2
A A
. Rﬂ ’ Rs .

86. A tuning fork vibrating with a 20 cm long sonometer wire produces 10 beats per
sec. If the length of sonometer wire is changed to 22 cm keeping the tension in
the wire same, then their is no change in the frequency of beats. Frequency of

~ tuning form in Hz should be

. Gnﬂ:mmﬁmt'mtmwmwﬂmﬁumm
TFA R B 22cm §Fwew D AR e d @R, N
MMiﬂMﬁm.tlmﬂMﬁﬁﬂmm

(1} 210 (2) 205 (3) 215 - {4) 200

(304) | 15 . (P.T.0.)
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87,

(304)

In the Young's double-slit experiment, 20 fringes are absorbed to bc formedon a
certain segment of screen when light of wavelength 600 nm 1s used. If the
wavelength of light is changed to 400 nm, then the number of fringes abaorbed
in the same segment of screen will be

o % mﬁumﬁmmtmmmm.ﬂm!.eﬁﬁ
:wmitﬂom (ﬁ)mﬂ%ﬂ!nﬁmﬁmﬁdmm
400 nm W B AR, A @ ¥ I W wm § vipwnd R v - W

(1} 40 @ 30 - () 10 4) 15

. When the light enters the glass from air, which of the following statements is
(1) its wavelength increases (2) Its frequency increases
(3) Its wavelength decreases (4) Its frequency decreases

e w A ww § vim wm , © A= i} - e oA
(1) weh sl Tt @ ' (2) vl srfy wd &
(3) v worked e 8 (@) W sy wzh

The threshold frequency of photoclectric emission from a material is
6x10'* Hertz. Photoelectrons will be emitted when this material is illuminated
by monochromatic radiation from

(1) 50 watts infrared lamp {3) 40 watts Ruby Laser light
{3) 30 watts sodium lamp (4) 20 watts ultraviolet lamp

16
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folt Tod & AR wem fgia Wl & by @ e s 6x101 W R
W d W B A fsm W @ TR W W 3w @ el SR wn?

(1) 50 "R % weRy @9 &, (2) 40 T2 & wt AW I
(3) 30 R ¥ Wifsem ¥ A (4) zo-miswl'mv.hﬁ
&0, ltﬂwradm.ofthemthmton!uinkbymﬁ,iumremﬁrmsmethe
acceleration due to gravity on the surface of the earth would
1) decreasc by 2% (3) increase by 4%
(8) increase by 2% | (4) decrease by 4%

'ﬁ‘]ﬂlﬂmmwﬂ!ﬁhwmmmﬁﬁ M gah H
g R iR R

(1) 2% % wWAm @ % wy wim
mmutﬁm (4) 4% W WRWM

' mﬁmmuklnndkgw If the two bodies oscillate
vnuullrmd!ﬂutthdrmmmulndﬂnmmmenﬂmmmoﬂhc
mﬂimdﬂoftheuhmtwmofamthatnt‘mebe ~

muﬂﬁqﬁawsﬁmmmmmmm
mmmhmk,nmmm Ilt mmm
it % R & W v vex vem o ot § f O wepsit W aiem A
TR, TG AC I MBS S I @ mmﬂm

) J% 2) Jg @) % ) i’- i

(36%) 17 (P.T.0.)
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15U/102/4 Set No. 1

&a. Alemitfwmdluwudngmutmﬂymidmﬁonlphnmnmmmhof
focal length 40 cm. It is used to obtain a real inverted image of the same size as
the object. The ohject must be placed at a distance of

40 cm Www T8 A § yweEm TR Jew W W owe T W - @
R o W W T §) W e @ Rl g W aefes w35 yRRes vy
& R & O W e § am w3 b R wg W e A fwel e i

(1) 100 om * (3) 80 cm (3) 60 cm (4) 40 cem

63. 70 calories of heat is required to raise the temperature of 2 mol of an ideal
diatomic gas from 30 °C to 35 *C at constant pressure. The heat required in
calories to raise the temperature of the 2 mol of the same gas by the same range

~ (30 °C to 35 *C) at constant volume will be

w sl A % 2w W AR 30 °C ¥ 35 °C W AR W W WA & AR
70 &eid s wem Tl 1 v fs 0 e & 2 W W = @ (30 °C
¥ 35 °C) ¥ fR won W MR R & AR S0 # fseh e Wi

(1) 30 (2) 40 3) S0 (4) 60

64. A thin gircular ring of mase M and radius  is rotating about its axis with a
-eomm::;?ﬂuuhm&n?oimuwﬁm-m-«mmmamw
gendy oppotite ends of a diameter of the The now will ro
with an angular velocity Fine ﬁlﬂ e

M 79%R W1 r fRAT W W TE e W AG) S % Wil s s Wl

WodPWwhIvpmRIimAsid s wmom m § 30 83 W o™

gz}wmﬂtmthvﬂ!lmmﬁth-
) ? : '

1 oM oM o M+2m) of M +
) M+m @ (M +2m) ) M 4 M ™

(304} | '13
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15U/102/4 SetNo. 1

Which one of the following logic gates is not the basic logic gate?
fea affes 12 & @ d-w A2 qu offe 2 o 87
(1] AND (2 OR (3) NOT {4) XOR

The practical unit of radipactivity is

(1) Curie (2) Becquerel (3) Rutherford  (4) Rontgen
e wirmm ) sgmmis vl w87 | S
(1) 9l (2) Y= {3 e (4) R

The number of protons in a heavy stable nucleus is |
(1) larger than that of neutrons (2) smaller than that of neutrons

(3) same as that of neutrona (4) half the number of nautmns
w Wi v e § S B wen TR B e

(1) & aftrs 0} CRE_8 8N

@ vxmahtt O (4) ® amdt Wb R

W!ﬁchofthef@mhgmterial:ddiin;;md-qlmnmlhrinahm;lgarmﬁmr?
{1} Graphite (2) Beryllium (3) Cadmium (4) Uranium -
mwﬂ#MﬂﬁMMWimtﬂﬁmmi?

(1) AeRE PR L] (3} ¥sfmm [4) ﬁﬁan_

19 (P.T.0
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69. A chuged particle is relcased from rest in constant uniform eclectric and
magnetic fields which are parallel to each other. The particle will move in a

(1) circle (2) helix (3) straight line (4) parabola

w amftm W w Rt (oEl) 3 oo dge oyl it W TR
areR ¥ fiemreen # o I R0 w1 R W o

(1) yu & @) yosteeh # (3) weeRan i (4) Sy ¥
70. The current { in the circuit shown in the figure below is

ﬁmﬁimmimiwnﬁt
i

300

1 2 ' 1 1
m 3 @ g @ 7= A @ = A

71. A charged particle of mass m and charge ¢ is fixed on a amooth horisontal plane
surface. A second particle identical to the first is deflected with velocity v on the
same plane towarda the first particle from a long dietance. The distance of
- closest approach of the second particle to the first: particle is -

m ITH T g wNW A anfim o o fesd Qe wwer W B Wit %
mﬁhwxwm FoMA Wl w o W @i mfe
fmn wm #1 g amw © o % fwzm e W 70w Wi

2

1 . ] 2 i 2 q
| I | _g my 1  2mw
i 42, % ) 4wz 2my? ) 4xz, 29° “ axey q°

(304) a0
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The capacitancc of a paralle] plate air capacitor is 15 uF and the distance
between its plates is 6 mm. A copper plate of thickness 3 mm is moved between

& FIRR D a1 g @ aftm 15 uF R 7w ek W & @ W 30 6 mm
2 26t DT & Ay 3 mm ed @ A K Al TRk TR B

wfen weft -

(304)

(1) 1S puF (2) 30 uF (3} 7-SuF (4) 22.5pF

Two thin long paralle]l wires separatéd by a distant b metre are carrying a
current i ampere each. The magnitude of the force per unit length exerted by
cone wire on the other is

B W T WIHRRK TR R b W g0 w fRm € e vedw @ oW e w

mtlmmm@mNMﬂwmme!ﬂmt

% . 2 =3
Bl _Bol_ 3) Bol_ q) BO°_
(1) 2xb 2) 2nb? ©) 2nb? “ 2xb

Two amall magnets of magnetic moments 16 Am? each are placed at a distance
of 01 m between the centres in end on position. The force acting between them
is

2 R waw W fred v W opadm A 10 Am? }, e AR § o
w2 # 01 m 0 W T T ¥ T We wd wow ww R | |

(1) 0-6x10°' N (2) 0-6x102% N

(3) 0-6N (4) 0-6x10° N

21 (P.T.0.)
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76. The amplification factor of a triode is 20 and its plate resistance is 10 k). Its
mutual conductance is

W IO W R Ui 20 W v W@ YT 10 k0 §) vl arefe wrewe

R R

(1) 2x10™ mho (2) 5x10"2 mho

(3) SO0 mho 4) 2x10° mho
(304) 22
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(Mathematics)
76. If A and B are any two scts, then value of (AUB)~A is
Waspdagem §, N (AuB)-Aaw TR ¢

(1) B-A (2 A-B 3) A 4 B
: , * 1
77. K f be a real function, ﬂamdomunoff(xhloglxléa
® 7 v awtw v §, @ ‘“xl'!dgllxl * 3R (W) ¥
(1) R (2) {-1,0,1)} @) R-{-L01} (4 Ru{-1,01}
1 1 i
78. mmdlog,abc+log,m+log,abch
1 1 1 |
B i R
(1) 0 @1 - 3} 3 @) ©
"‘ lr
aft
{a-i-ib
x+y= c+id
then value of (x* + y?)? is
M (2+ry PR
a?-p? a+by (a-b]’ a? +b?
w5 eE) oD e=ms
304) 23 P.T.0)
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80. The value of

2 1% aeec?® as
tan 3+2mo 4+31ec 6+4cos 2
is
2 R alk 2R 2"
tan 3+2c§i 44_-35&:. 6+4cos 2Hi'l‘l'Flt
(1) 6 (2) 8 3) 10 (%) -12

81. General solution of the equation 3 cosx+sinx =1 is

M 3 coax+ainx =1 W T ¥ &

]

1 = i - i
(1) x=2nx 5 |2)x_2mt+6
3 = E- ! = 1-2
(3) x 2m+3' (4) x=2nx 2
82. Solution of 2(2x+3)-10<6{x-2)is
2(2x+3)-10<6(x-2) ¥ ¥ §

(1) x<4 {2) x>4 ) x<11 (4) x>11

83. Solution of an equation (x +1)(x+2)(x+3)(x+4)+1=0 ia
W (x+1)(x+2)(x+ 3}(x+4i+1-0 wmead

(1) x=%5 2) x=246 . (3) x-"‘*z"g (4) xn'sz‘fé

m - 24
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M —1
The value of lim is

Elg[.u:’ _1} -

/¥ 41
(1) 1 (2) O 3 -1 {4) 2
. : anﬂ +bn+l
If Geometric Mean between two numbers a and b is o p , then value of n
is

t&ﬁMambmmm“m*bm ?, R amaE R

a" +b"

(1) -1 @ 1 @4 @ -3

9
mevahwdthemindepmdmtofxinthemdonof(g-x?r;—x] is

[gx"-i]g%m* x%ﬁl"ﬂﬂdmﬁ

3x
7 7 7 _ _‘_?_
(1) T | (@) T {3} 36 l4? 36

The value of *C3 + "C? + "C3 +.-+"C; ia

ncdenct+"CI4 o +"Cl AR R

(2n)! (2n) 1 (2n]t]’ o
Ly 2 (n1y? | [3’[ n! ) (2n)1
25 '_(p.'r.o.)

L]
gcollegedunlaa
India’s largest Student Review Platform

—



15U/102/4 Set No. 1

as.

o1.

(304)

How many different words can be formed by using all letters of word
‘ALLAHABAD?

W 'ALLAHABAD' & a1wil % wim & o i3 arem-arem 1oz wk w1 e §7
1) 91 (2) 2—:- (3) 7460 (4) 7560

-+ = =+ -bl A A A -» -y
flal=2,|b|=7and axb=3i+2 j+6k, then angle between a and b ia

T |a|=2,|b|=7 WM axb=3i+2j+6k M a R 5 & ww v 4

{1} 30° (2} 60° (3) 90° (4) 120°

The 'straight lines 2x+3y+4+k(6x-y+12)=0 and 7x+5§—4u0 are
perpendicular, then value of k is

werer] 2x+3Y+4+k(6x-y+12)=0 W 7X+5y~-4=0 W-@ LR
L. akwmmme

29 _29 37 37
u} 37 {2) 54'?'? (31 2_9* (4] "5_9'
The radius of the circle x? + y? +8x-16y +64 20 is
T x? +y? +8x~-16y +64 =0 B frow w7 77 &
(1) 16 2) 8 3) 4 €4) 2

26
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93. The value of eccentricity of the ellipse 16x? + 25y2 =400 is
dnfam 16x2 + 25y =400 & FTM W AR R

3 . 5 3
(W 2 (2 J; 3 3 "3

| 3
93. The value of lim 22 JT0OX 4
- 23 cos x+:T

(1) 4 @) -4 (3) -243 (4) 42

d [sin x+cosx]
dt[ainx-mnx_ w
2 2 : 1 -2
1 -
(1) 1+nin2x 2) 1-8in2x () 1+ain2x @ 1-8in2x -

95. If the three vertices of a parallelogram ABCD are A (3, -1,2), B(1, 2 -4) and
C(-11 2), then coordinate of fourth vertex D is

W R W ABCD & A7 Whiftg A(3,-1,2),B(1,2,-4) a C(- 1,1.2)
e § W At i p = Awiw d
(1) (L-28) 2) (~1,28) 3) (30,8) (4) (1,2 8)

(304) 27 B - (P.T.0) |
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986.

98.

(304)

The equation of the plane passing through (1,1, - I)andperpendicuhrtothe
planes x+2y +32-7=0 and 2x-3y+4z=0

W oowa (@F) ® wiwm, W fm (L1,-1) & TRm t oan www
Xx+2y+35-7=0 G 2x -3y +45=0 | &% §, ¥m

(1) 17x+2y + Tz = 26 (2) 17x-2y-Tz=26
(3) 17x+3y -T2=26 (4) 17x+2y-72+26 =0

One number is chosen from numbers 1 to 200. What is probability that it is
divisible by 4 or 6 ?

1%mmuﬂiammwmmvvﬁmﬂ4meam

w3 6 afeem T 47

" 206

The value of I

67

@) ==

200
dx

f— dx

sin (x-a}cos(x - b)

1) ——

(2}

cos{a-b)

log,

ain (x-b)

cos(x-aq)

cos{x~b)
sin (x-a)

cos(x-a)
cos(x-b)

sin{x-a)
cos(x-b)

sin (x-q)cos{x-~b)

w T R

+C

+C

+C

+C

a8

B) =

101

(4) ——

200
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9. The value of

- E X8inx e
1+cnu5x _
is
[ 282X gy w v
l1+co8°x
" & R | x?
m 3 2 o @ 5 ) 3

100. Sohution of differential equation %ucm(x+y}is

i %-m[uy] wwt

(1) tan[ig—ﬂ =X+ C (2) tan({x+y)=x+c
(3) tan (x+ y}=-x+c (4} lunl(ﬂ).lx’ P
: 2 2 2
(S04 : 29 (P.T.0)
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101.

102a.

103,

Section—IV
W]V
BOTARY and SO00LOGY

{Rotany)
Bionomial nomenelam:'é was given by
(1) Whittaker (2) Linnasus
(3] Theophrastus (4) Ariatotle
e § fm oo fead g 4 i
(1) =™ (2) frfrow (3) fnilwwa

Largest herbarium in India is located at

(1) Lucknow (2 Darjecling  (3) Howrah
I W W Wy sk wl o t7

(1) ¥R (2) Rifém (3) wAm

The accumulated food reserve in fungi is
(1) protein (2) glycogen (3) fat
w3 wnfte WRe-am v w47

(1) W (2) M (3) war

(4) FR

4

(4) Dehradun
(4) ¥wrm
(4) starch

(4) v
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The cell wall of bacterium is made up of

(1) peptidoglycan {2} cetlulose
(3) glycogen (4) lignin
@ Aftm-Rfy ad wh o 87

(1) WRErompem (2} IEEN (3) TR (4) fafm

‘Clamp connections’ are found in

{1) .Bnﬁdinmycem (2) Oomycetes |
(3) Zygomycetes | (4) Ascomycetes
‘W-wwn’ fswt T wm 7

(1) AR (2) Smrghdw

(3) S {4) TR

The cyanobacteria are also referred to as

(1) diatoms (2) slime moulds
(3) blue-green algae (4) red algae
Wt W B § 3 ¥R-W g W o
(1) SR (2) oW W
(3) W | () W w=h

3]

(P.T.0,)
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107.

108.

109.

- {1) Pleris

{304)

Living foesil is

(1) Ginkgo biloba

(3) Pinus gerardiana
e s &

(1) Fem sRenar

(3) Ty W

‘Sago palm’ is
(1) Cycas circinalis
(3} Cedrus deodara
‘&t am’ wyETn R
(1) TRew TR
(3) #yw dmm

Maiden-hair fern is

@ Adiantum
RAd-kw o' e ¥

) M @ den

- {2) Gnetum ulva

(4) Taxus baccata

(2) a?airm
(4) dwww oz

(2} Cycas revoluta

(4} Ginkgo biloba

(2) WrReR e

(4) Pt i

{S) Lyvapedium

(4) Drycpteris

@) aeRE (@) gAY
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110. In Cycas, pollination takes place at

(1) 3-celled stage (2) 4-celled stage

(3) 2-celled stage (4) l-celled stage

ey v fen swen 3 om &7

(1) 39 amem - @) 4-wfw wen

(3) 2-WifirA e (4) 1-8fmm IrRw
111. Which of the following contains xylem vessels?

(1) Pteridophytes " (2) Bryophytes

(3) Angiosperms (4) Gymnosperms

i # 4 fomid IEm aftver T ot 47
(1) Arewzw (2) ITNSTRZE @) Raeris (4 Reerenin

112. Which of the following is monoecious? |
(1} Papaya (2] Pinus (3) Cycas (4) Marchantia

B 3 2 9 s 42
(1) -t . (2) AN (3} R (4) TR

113. Fusion of two gametes which are dissimilar in size is termed as
(1) isogamy (2) anisogamy.  (3) oogamy {4)' zoogamy
¥ WO AR & TOEI & s W oA

(1) R @) wodd  (3) sinh (4) vt
(304) 33 (P.T.0,)
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114. Which of the following is called amphibians of plant kingdom?

{1} Algae s (2} Bryophytes
(3) Gymnosperms (4) Pteridaphytes
on W W e e 4 R e vl §7

(1) dura (2] WRIHEZH (3) Rr=renis
118. Longest style is found in

(1) bajra (2} pea (3) wheat
TR vl aftw et o anh &7
(1) W (2) "R @) M

116. Stamens are branched in

(1) Ricinus (2) Buphorbia  (3) Hibiscus
P % ¥ sl g a9 ¥ |
(1) RR | {2) TwRfa (3) R

117. Smalleat seed is found in
(1) Lodoicea (2) Orchids (3) Zostera
TR o W el o S R?

(1) R (2) kA (3) W

. (4) ETweE

' (4) maise

(4) s

(4} Calotropis

(4) Fmzife

(4) Wolfia

(4) R
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119,

¢

120.

181.

15U/102/4 Set No. 1

Trimerous flower, superior ovary and axile placentation is found ip
{1} Liliaceae (2) Solanaceac

{(3) Cucurbitaceae (4} Compositae

ferlt go, Tl sERR @ nefin fieer fRel o s 37

(1) Referoeh (2) W (3) yumfwRh (4) mm
_Bﬁal placentation is found in ;
(1) Compositae () Papilionaceae

(3) Solanaceae (4) Brassicaceae
svarew M e arn wm R7 | -
(1) iR (2) AR (3) wea (4) Wb
Leaves of Utricularia are modified into
(1) Hooks (2) Tendrils (3} Pitcher (4) Bladers
Myere § wRal R worka B §7
(1) ¥ (2 = (3) fem (4) vt
How many female flowers. are found in a Cyathium?
(1) One (2) Two (3) Thrge (4} Many
wrfeen i Rt A g T W@ 47 |
(1) & @ (3) ¥ VR

35

(P.T.0)
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129. mhmmthemof

{1} Hibiscus (2) Alllum - {3) Mustard (4) Cucumber
fows s & toow aRn I 87
(1) R (2)- T () weelt (4} T
123. PFlowers Jm Zygomorphic in
(1) Guimohar (2) Mustard {3) 'l‘om‘ato (4} Datura
P & % fenlt g o we v B €2
(1) yordnee (2) Wl (3) e (4) W
124. Axile placentation is found in *
(1) tomato (@) cucumber  (3) ﬁhm (4) inumrd
wfix daveam fead omr wen {7
(1) W (2) PPN @ W (@) Wl
128, Phyllode is prescnt in
(1). Gpemtia @) Asparague
(3) Buphorbia (4) Australian Adania
s fwwit v W #¢ |
(1) Tmeh (2) oo |
(3) Twriler (4) Wi e
(S04 ) 36

L]
gcollegedunlae
India’s largest Student Review Platform

T



15U/102/4 Set No. 1

{Soclogy)

126. Lamarck's theory of organic evolution is known as
(1] natural selection .
(2) inheritance of acquired characters
(3) ontogeny repeats phylogeny
(4) artificial selection |

(2) sl sgvil 6 Ty _
(3) =i frm Wiy e & Jeom R

(4) ¥Pm o
.87. Animala with ant eating habits are called
(1) Sanguivorous (2) Carnivorous
(3) Insectivorous | (4) Myrmecophagous
I G gy

(1) #flra (2) ¥ 3) vivem (4) P

L28. Phylum Protozoa is divided into four classes on the basis of their
(1} nuclear structure | (2) locomotor structure

(3) mode of reproduction (4} mode of nutrition

304) 37 . - (P.T.0.)
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139.

130,

(304)

fr=r # 3 fdm aeR osiRMNaT W ww Wit da gan 47
(1) %% B TN (2) "R e W

(3) W ¥ WM (4) T W o

Archeopteryx, a transitional fossil between birds and reptiles was discovered

from the rocks of |
(1) Jurassic Period (2) Archeozoic Era
(3) Cretaceous Period (4) Triassic Period

R LR I YRV NS W R Y O SO S

wH ¥ I fFn T O

(1) s = | T (2) wrfwitaye W

(3) fiRfmm w& (4) TR W
Cytochromes are

(1) riboflavin containing nucleotides

(2) pyrimidine nucleotides

(3) iron porphyrin proteins

(4) metal containing flavoproteins

wewr §

(1) TR gffasiengs § affe

(2) mffly fRadens
(3) I denfE Ndw

(4) v WA i sy

38
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Gold Schmidt has classified evolution into micro-, macro- and mega- mlutmn
Which one of the following is referred to as micro-evolution?

( l] Evolution at variety level
(2) Evolution at subspecies level

(3) Evolution at species and genus level

- {4} Evolution at family level

133.

133.

{304)

nesfer 3 A -, ﬁlﬂ—mﬂm-ﬁmﬁwﬁmmmif
A et -fwm el wxffe fem man 22

(1) I "R R Rww (2) I ¥R W =
(3) WA A AW *| | Aww (4) ¥ "R Reww

Development of unrelated groups of animals along parallel lines in adaptation to
a similar environment is called

(1) adaptive convergence (2) adaptive radiation
(3) adaptive divergence (4) adaptive induction

swg wqE ¥ R w1 ofeds, Tm e & ogge & R, waEem g R
ag wroran §

(1) Ageeh wirwwm - (2) e yER™
(3) AP T {4) TR aftere
Acrology deals with the study of
(1) fossils : (2) ticks and mites
{3) molluscs (4) coral reef
39 (P.T.0.)
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134.

138.

136.

(304}

ol fey % svEm W e §

(1) derm ‘ (2) feort w p2hr

(3) WA (4) e

The action potential in a4 mammalian nerve fiber is generated by

(1} Na* ions (?) K* ions (3} Cl” ions (4) Ca*" ions

vl wfe o 3 e oo fsmemm SeRn Weh R

(I) Na* 3% () K* 968 (3) CI" 9= (4) Ca’" 9N

The pracess of genetic mutnt_ion is

(1) reversible (2) irreversible

(3) partially reversible (4) continuous

gt Seforta s B § |

(1) wivew @ sfwd (3 wiftw sPeae (@) o

Which of the following does not belong to Phylum Coelenterata?

(1) Sea pen ' {2) Sea feather

(3) Sea cucumber (4) Sea fan

frr % 3 ¥ Moz @ § e Tl 47

(1) & 4= 2} @ &= (3) W yFaR ) @ &
40

L]
gcollegedunlaa
India’s largest Student Review Platform

T



15U/102/4 Set No. 1

137. Maurer’s dots are observed in the erythrocytes of man if these are infected with

(1) Plasmodium vivax 2) Plasmodium falciparum
(3) Plasmodium ovale (4) Plasmodium malariae
arscd W AW & RevenEa A el @ § 2R ¥ A @ upfa b
(1) wrEifem ade (2) TR YafedE

(3) TR s (4) IR sftoTy

.33. Which one of the following cancer is prevalent in human beings?
(1) Carcinoma  (2) Lymphoma (3) Sarcoma '(4) Melanoma
ﬁniﬂﬂw-mmmimi&mwmt?
(1) wrfvrm (2) fowem (3) WRW .",“ frée

139, Kala-azar is transmitted by |
(1) Tse Toe fly  (2) Dragonfly (3) Sandfly  (4) Fruit fly
warR 5 & g veia ot

(AR (2 PEE (3) 4=y (4) %z e

140. The genetic material of a virus is
(1} DNA (2) RNA
(3) either DNA or RNA {4) Both DNA and RNA

'304) 41 (P.T.0.}
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141.

TE § Ay IR e f
(1) HoWeRe (2) HRoWoRo

(3) QeWoue Hyar HRoTAoQo {4} FoWoRo @ HRoTHoWo AT

Which of the following pair of scientists had proposed fluid mosaic model of
plasma membrane?

(1) Gorter and Grendel (2) Singer and Nicolson

" (8) Cereijido and Rotunno - (4) Sleigh and Jennings

143,

ﬁwmaﬂaﬁmtmiwammtmmmﬁmm

m?

(1) MR 7 A= (2) frr wn Prefem

(3) Rt am m (4) iR A Afa
Sleeping sicknesa is caused by

(1] Trypanosoma gambiense (2) Trypanosoma rangeli
(3) Trypancsoma brucei (4) Trypanosoma cruzi
= & oo f

(1) R¥=vwmm dnfwdst (2} Reramm oty

(3) R geht (4) R¥mr g

42
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144,

148.

(304)
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The visual pigment is compased of four components. Three componenfs are
(a} prosthetic group, (b] protein moiety and (c) a six sugar polysaccharide chain.
Which one is the fourth component?

(1) Glycolipoprotein . (2) Phospholipid
(3) Phosphoprotein (4) Glycoprotein

wmmwﬁlmwﬁmtliﬂammmlmrm}ﬁmm
aw (1) & B: vEn dreftwgs € e gz AR-w 7

(1) =TERrEaTEmaa (2} wenfais
(3) GRS (4) TTPRTA

Which one of the following hormones of the pituitary gland is a direct acting
hormone that is without interaction of other hormone?

Ao # 7 da-d G 7ER W Wi e, abw o f, B A o
gt # Tt B % A wd W 82 |

(1) TSH (2) ACTH @) LH - (4) MSH

Which one of the following is the function of glucagon hormone?
{1) Increases uptake of glucose and amino acids by.cells |
(2] Stimulates glycogenclysis and release of glucose from liver cells
(3] Decreases blood ghucose level

(4) Increases glycogenesis

43 | (P.T.O.)
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freaforien . B ¥a-w & e o W 2

(1) FYfmm 0 TR B W IR W

(2) e W 0 W T T D 3 T e wo
{3) R Wy ¥R W WP

(4) Rl s TP

146. Abzymes are
(1) hydrolases (2} antigens (3) antibodies  (4) proteases
s §
(1) mgdE (2) T (3) e (4) SANT

147. Plasmagenes are
(1) genes present in plasma membrane |
(2) genes present in chloroplast and mitochc;ndria
(3) genes present in plastide
(4) genes present in mitochondria
i §
(1) o g 8 oftw W |
(2) ¥R W R ¥ ufee
(3) ofega # NfRm A=
4) TRERE 4 Ry A=

(304) 44
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Which one of the following Ca** dependent cell-cell adhesion protein is

respongible for tissue specific recognition process in vertebrates?
(1) Selectin (2) Cadherin (3} Catanin (4) Vinculin
Praiien § @ ¥-m Catt WP smiw AR Wil 6t see fafte

- wfvww whwwr & fog swerll 87
(1) Redtfem (2) WA (3) WA (4) RegRw
The malarial parasite is introduced into the blood of man as a
(1) metacryptozoite (2) eryptozoite
(3) schizont - (4) sporozoite
& e § Wt vl s w4
(1) *fwdreae W # (2) ez v 3
(3) TTEwE W | (4) R ¥ ¥
Auerbach’s phnlmwfoui"t;:lm I
(1) gastrointestinal tract (2) liver
) kidney (4 heart
wrame wr B F 7 ¥ §
T L. AT - @ v

45 (P.T.0.)
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181.

183.

163.

(304)

Section—V
gV

AQRICULTURE

Which one of the following fertilizers is orgamic in nature?

(1) Single superphosphate - (2) Diammonium phosphate
(3) Urea (4) Ammonium chloride
P § & Wa-w hos, Wit TR w 47 |
(1) Re geewrerz | (2) TfaritPrm ez

(3) b | (4) wifr WA
Deficiency symptom of sulphur first appears on

{1} younger leaves (2) older leaves

(3) middie leaves (4} None of the abovc'
¥R 6@ Wit W o T e farh 2w }

(1) 7§ oRel w (2) Yot i ®

(3} 99 & gftwf w (4) 30 ¥ } fimh o

Select the crop having deep root system

(1) Rice—Wheat—Maize (2) Sugarcane—Safflower—Castor
(3) Groundnut—Tobacco—Papaya  (4) Onion—Garlic—Leafy vegetables

46
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ﬁniiﬁuﬂmwﬂtmmﬂ

(1) R | 2) m—ﬁn—&m

(3) prat—ramp—adia (4) WR—Teg—aHigr afewt

'pH value of the saline alkali soil will be

(1) >8-5 . (2) <85 (3) =8.5 (4) None of these
whe- sl 7@ w1 fowde g & | |
(1) >8-6 (2 <85 (3 =85 @) WA W
The most stable measure of central location is

{1} Arithmetic Mean 4 (2) Median

{3] Mode {(4) Harmonic Mean

2 Wt = st ww o d |

(1) WRR W (2) Wfew (3) g (4) Twiife W=

If the lower and upper limits of a class interval are 20 and 35 respectively, then

~ the mid-point of the class will be

R W w soe W A W R e e 20 w35 €, @ # oW
ey WM

(1) 55 (@) 275 (3) 15 @ 175 .

Which of the following is family of guava?

(1) Solanaceac (2] Myrtaceae (3) Cariaceae (4) Rosaceae

47 . ®T.0)
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fa= i & wmez © - el X7 |
(1) WreReh (2) Prieh (3) ¥ (4) i

188. Which of the following vegetables ia rich source of vitamin C ?
(1) Chilli | (2) Caulifiower (3} Cluster bean {4) Okra
frm & & W~ ot & Aehe c afte v A7
(1) P @i  @gwmdm (@) fe

189. Television broadcast started in India in the year
e w1 werw fee Tt R gang?

(1) 1955 (2) 1965 (3) 1957 - (4) 1960

160. Community development programme started in’ the year

e e wedwn fvw o srow gan?
(1) 1965 (2) 1952 (3) 1948 (4) 1958
161. First Agricultural University in India is |
(1) TNAU, Coimbatore. (2) GBPUAT, Pantnagar
(3) UAS, Bangaluru (4) ANGRAU, Hyderabad
VIa & Teen i feefioem §
(1) Voo o, WAL (2) MNeWoReyoqsAo, YA
(%) Aexene, gy ) S, e
(304 48
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(1) Zaid (2) Rabi

(3) Kharif | (4) All season crop

i fow dam @ wam 47

(1) Ir] (2) wft (3) Wi (4) ot Ham
163. Self-pollination is a form of

(1) inbreeding (2) outbreeding

(3) random mating (4) All of these

e wfiem fsowr v R7

(1) wlfén @) Izafm (3 t=m A (4) wot & o
164. Basic chromosome no. (x) of wheat is

& W gy F Fow Ok R |

(1) 21 (2) 42 3) 7 4) 14
168. Father of Indian Green Revolution is

(1) Dr. B, P. Pal ' (2) Dr. Sanjay Rejaram

(3) Dr. M. 8. Swaminathan | (4) Dr. Mangala Rai

vl e R & fomn & |

(1) W We fo TRa (2) Bto FHT TARW

{3} e e Wo TWNfATR {4) W Wwen ™
(304) 49 (P.T.0)
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it & forg fdw

(v v & o ST g e e o Ol v Ao vl / et -tz 4w @ 0 Al

1, Wm0ttt firraimiwhgt st
SR v Tl A R e g e w frds o W wpt e i et yRm s

2.  <hw v 3§ Awrwr vie W=y & aMe, fran o wrn Wi o o s v & 3 o

3, sw-wramm A fwrmn € ol 3o i slte T g wd ) e s adt R o | v -
w w1 ' i fomr i

4. NV IS TN FN-VT W7 FWE 20w anw-gw W %7 @ ity v kel )

Jn-vr & 207 W ¥ & S sgms Rty v w il v 8 R pri s e e €
!~ v avvvw 3 vyl sw-3R w e v e W e e mRt W R

6 WM W AR ™R TP don, TR-3RAW TN ¥ W2 duRr (vl W @) mn - R
SIS W IR 30, e, R, 0 e W Wit § i W Rl 4 _

7. mﬂ;‘wimmmﬂmmm#uhmﬁmunmwmm
oA |

8.  we-yfRm ¥ wdw v & wr e a A R € ) e e & fefbw ane & AW ave? am-
uﬂnﬂrﬂiﬁﬁﬂwdm—w&mwwﬁ#m*wh#w
wwii . .

9. wiw e %I E ik v vw ) qu @t (e s T W TR A R T s e
P W T WE IR TER W WA | b

10. ar{ A wr et pnr 2R yov wewr 3 o awar 8 | AR 3 fel vR W oo i e
£, A vl ofts & g R W wh gt o awh vy 34 3wt ® e aiw R

11, & wri & AW ve JRW & arw & iy e qu e siftm et yu v |
12, 0w & 350 Y o, . WX, IW-o¥ P70 v § sty
13, wwr g 03 @ ord vhur 9T A e I B 3 ofl o |

14. gmmmﬁ wgfnt wrel W iy e #, @ ey Tarefiemen g Avdfn g W@ vt
|
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170. Futher of Economics is

(1) Marshall (2) Robbins . (3) Adam Smith {4} J. M. Keynes
spbore % fon &
(1) e (2) W @ B (4) Ao we W
. 172. Which one of the following can be suitably grotwn as a mixed crop with wheat?

(1) Caulifiower (2) Brinjal (3) Cotton (4) Mustard
frer § @ R0 T & ww it wow & w0 & T I T 7
(1) gewiedh (2) ¥m (3) whra (4) el

172. Which of the following is not a cash crop? |
{1} Sugarcane  (2) Cotton  (3) Groundnut  (4) Wheat
fraffen & @ ¥R ) e oWl 47
(1) ™ (2) W (3) s 4 M-

173. Whichsmtenfmdiai;thelamestrubberpmducer?
(1) Karnataka (2) Kerala
(3) “Tamil Nadu (4) Andhra Pradesh
wRE ® WA- T waiftes R SaEw oW 7
1) W @ wa (@ ey ) e

174. What is the chemical name of laughing gas? |
(1) Hydrogen sulphide (2) Nitrogen peroxide
(3} Nitrous oxide | (4) Nitrogen dioxide

(304) 51 | . (P.T.0.)
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178.

176.

377,

(304)

wfém s w varfe Tm v 7

(1) SRR HEERR (2) T YRS
(3) g v (4) A TSt

Lab to land programme was started by
(1) Government of India

(2} Government of Punjab

(3} Government of Maharashtra

(4) Indian Council of Agricultural Research {ICAR)
Ve § WA 3% wRiww feads go o gan?

(1) YR GR | |

(2) TR WIHR

(3) WETE WIWK

(4) YR wERm s dfirerwe fod (wmfodloqo¥Ro)

Study of green aquatic thallophytes ia known as
(1) Parasitology (2) Phycology  (3) Mycology

Ty-upfidi el @ N & sorwm W o w47
(1) R-HReft (2) T s (3) W% I

Sub-cellular components are separated by means of

(1) chromatography
(2) autoradiography
(3) electrophoreais

(4) differential and denaity gradient centrifugation
52

(4) Myology

(4) Wit swE
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- TrH B s T @ e Y 70 B e 4
(1) Tf-rem |
(2) w-RfSia Rem
(3) A AT UIeH
(4) wvhiEm g o Rt qadtee
178. Occurrence oftw::o:" more types of leave on same plant is known as

(1) dioecy (2) dichogamy (3] multi-pinnate {4} heterophylly
o W At wwr 6 Rt w1 o ® I W e S F e 87
(1) yuw firft (2) fm mm
(3) ¥yl (4) frw-fig
179. Which one is the most mutable virus?
(1) Chicken-pox virus (2) HIV
(3) Influenza virus " {4) Dengu virus
fiw & A W T e TRt e 47
(1) o wrm firy (2 T Ry
3) Y Ry (4) ¥, Ry
180. What is bacteriophage?
(1) Virus attacking bacteria (2) Virus attacking virus
(3) Bacterium attacking virus (4) Bacterium attacking bacterium
(304) 53 (P.T.0.)
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vt w0 wm §?

(1) vhamy # s Ry (2) Rrery # wewrw firery

(3) iy 3 s sy (4) Wy § W Wy
181. Thctisnucbenrmgdéad cells is

(1) collenchyma {2) parenchyma

(3) xylem | ~ (4) phellogen

swltfin Wfinead el W v w47

(1) BqE W T | (2) et e e

(3) T = L {4) wTR

182. Poured with which of the following the fresh grapes shrink?

(1) Hot water . {2) Cold water o

(3) Sweet solution h (4) Salty solution

fra it @ Perd v @Y W AN s fogrs W §7

(1) v = (2) 3% IW (3) 3 o (4) A 9@

183. Mendel did not work on which of the following?
(1) Plant height in pea (2) Seed colour in pea
(3) Pod number in pea (4) Pod size in pea

(304) ’ . 4
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L CRER R R R 8 kR

(1) W *i @ v (2) 7 #m w1 ™

(3) 7wt 6 won (4) WX S W W9
184. Apple is a |

(1) true fruit (2) false fruit

(3) vegetable ~ {#) parthenocarpic fruit

¥ w47 |

(1) TRl st : (2) FaraRs oo

(3) wwilt maﬁiﬁum'

188. Which of the following fertilizers is the only fertilizer under statutory price

control?
(1) Potash (2) Ammonia
(3) Urea (4) Phosphate
Rrafofim shet 3 A wra-a shve s e B & STl s 7
(1) 938 : (2) avifa
(3) (4) FERe
(304 55 3 (P.T.0.)
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186,

1 '7‘

(304)

Which of the following is a.case of genctic engineering?

(1) Developing green-flowered plants through crossing blue- and yellow-
flowered plants

(2} Improwing a plant with the addition of a useful gene from fish
{3} Improving a plant through seed irradiation with Gamma-rays
(4) Improvement of a plant through tissue culture

&% & w9 angefiee SRRl @ AR R7?

(1) % go T i A gor ad P & wEem A R g A A it

(2) woeh @ wf nf aepeifteem ) ow w m ifes e W W W e 9N %
it = e

mmmammmmmﬂm‘
(4) % wadn gwr fwt N = R

What is Bt cotton?

{1) High-yielding hybrid of American cotton
(2] Disease resistant variety of cotton

(3} Insect resiatant variety of cotton

4) Dmugat resistant variety of cotton
Wodo wTe W Wy &7

(1) #Re s sfes W o
(2) wra & An-Duw wwR

(3) warW 6 Hz-tow v

(4 ¥ W gm-dun sk
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188. In which ficld was Nobél Prize conferred upon Norman E. Borlaug?
(1) Physiology and Medicine (2) Agricultural Science
(3) Peace (4) Genetics |
oy §o ek B B § ¥ A A Ry v e @ TR R
(1) widiw B @ oiwfy R (2) s Rram
(3) ¥\ 7 WA (4) st e

189. GMO stands for what?
(1) Genetically Modified Organisms
(2) Genetically Multiplied Organiams
(3) Green Modified Organisms *
(4) Green Modified Orange

WogHoddle T IFM iy # F A zwiar 27

(1) i Ry g0 wle da (2) st R g werfe e
(almmﬂam (4) wfa safa 990

190. Cell theory was first formulated by
(1) Schleiden and Schwann (2) Rudolf Virchow

(3) A. V. Leeuwenhoek (4) . Ruth Sagar

(304) 57 (P.T.O.)
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191.

192.

193 L

(304)

P ¥ 3 it Regrn fem) wafe R

(1) W @ A (2) wew awta

(3) To Ao TAXH (4) ¥U WK

Which of the following poasesses chioroplasts?

{1) Photosynthetic bacteria (2) Blue-green algae
(3) Green plant celis {4) Fungal cells
fre & @ Tt wieas Sufm o ¥7

(1) wedws ey (2) Ha-sfa e
(3) ¥ dui & wfiww {4) F5% St

Which of the two living organisms symbiotically dwell together to form a lichen

structure? ® °

(1) Blue-green algae and virus (2) Fungi and virus
{(3) Algae and fungi | (4) Bacteria and virus

::amammmmmgm.mmmmﬁm
2 |

(1) fa-dfa am @ Ry (2) v T ey
(3) farer i = (4) ey o ey
Trypsin is basically what? |
(1} Fatty acid (2) Sugar
{3) Oligo-nucleotide (4) Protein

| 58
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wem: fofm v @ ke
(1) wig I (2) wa
(3) Af-Ifr (4) N
194. Which of these is not a C, plant?
(1) Maize {2) Rice (3) Sqrghum (4] Sugarcane
& & ¥ ¢, ey T R7
(1) W (2} WR (3) T&m (4) mn‘

198. . Which of these fixes nitrogen inside leguminous plant roots? -
(1) Rhizobium  (2) Anaboena (3] Azotobacter (4) Azolla
Fer 3 % W g zewh el B T ae-Rtwe & e g8 v 47
(1) Tt (2) G (3) WM (4) T
196. Which of _theae is placed in the category of microbes?
- {1) Hydrilla (2) Azolla (3) Salmonella (4} Earthworm
A 3 3 o A @ Sof F o §7
(1) wi¥en (2) Gt (3) W (4) dgen

197. Where is the International Rice Research Institute Jocated?

(1) Manila (2) Chicago (3) Cairo (4) Cuttack
s 9 Tiw gl waRa 87
(1) wfen (2) s (3) wifew (4) FeH

(SO4) 59 {P.T.0.)
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198. Which of the following is a vertcbrate animal?

199.

(1) Prawn (2) Snake o (3) Mosquito (4) Octnpuu
fer # ¥ fgurh Ty WA 7

(1) Wim {2) 9 (3) wow (4) weaTy

Life span of blood platelets {8 about *

(1) 3-5 days | {2) 7-8 days

(3) 10-12 days (4) 100-120 days

W ugs W A Ay W W v 87

1) 3-5 A (2) 7-8 ﬁi' (3) 10-12 f&m (4) 100-120 A

Which of the following nrﬁnnim prove to be most useful in genetic engineering
studies? o .

(1) Brassica oleruceae (2) Glycine max
(3) Azadirecta indica {4) Escherichia coli

et SRR g ¥t e @ AR-w e aitwm s @R Rig o
L ]

(1) #Mever st @) =R
(3) Tfitwer yRw (4) Mﬁmm

*hed

60 . D/5(304)— 12666
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avafqdt & ferg frifa

(F8 gf® ¥ aye amaro-g8 9 9y IW-1n & 2 of 9 ¥ el o W we-mmE W R # fed)

1. 79 (e fed & 10 e & st @ 3@ & B owamm 4 ot g3 Ay § o w ow
ga W 2 R Iy M IR ) g e #wg-Afgy W w gl e
w qf W oW )

2. Vi wav X frovew ew wAw-97 ¥ i e w o S8 o gen v Wy ¥ 1 @l

3. IW-w yEm A o o ¥ oy 7 0 9T S 7 F Apr B Eo sw-vy o Rar wAm, dww am-
W ¥ Ve fow arm

4, SO HIFWE AW IN-UY T SHF A IEO-78 W 7 A fifa wm o ferd

5. I-TX ¥ AWM UF W I q U H{FAE it wm w fed g AR ) ol @ ow o= ¥
w-wl e § o ae-gfere W owsiE oo 4 W TR R o w ford

6. o TWo Mo T W Ngwwim wom, w-gferm don 7 ¥ wom (g R AN) ™ wa-gfewm W
mﬁomﬁGWDMoWﬁ#ﬁmﬂmﬁmmtl

7. I4E wfafed! A #nf Wi sfondw wu Friww g woftm O =nfEd a1 o oF srfem owR & wom
qr Sram |

8. WE-Ifcm A WA uw & 9 dwfers Im @ ™ ¥ aew ey & v g & A R Tae-
wR s e R e Rtk R R M A N T A T
v &

. FE TN F MR Sz w R R Ty NI & ¢ JfvE g0 A T T | 3vA &
TR A IR W W IM R W 9@

10. WA ¥ fF @ ¥ Tl TR ifem IO agen T W ' 3 ofy S fadt v W awe nf v v
¥ @ wafw WE & W R T w9 A aeh a2 9 W W g s fd amny

11. & F¢ & 78 ma-Yfaw & qaos & =t o y8 aw sfew g8 W 58w
12. W F 390N FXA MeqWodme TA-T¥ TAM v N wn e
13, vy wOw 07 & veel The wa R} e 9 < owha 9 @it

14. o W ol qite ¥ srqfae wl W owEm W B, @ wx fawafroen g fuife e @), i
wTEE
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